a0 a, ) (cm)

Ratio

0.95%

o(d o) (rad)

=
o
N

10u%

I 11 1 1 1 1 1 1 I 11 1 I 11 1 11 1 1 11 1 I

i ¢ 5

5 ) 3 -+ -

] [.L + ] i + |-

1» _ | =+ |+ X ! 1 _"__"_" -+ ] -*
5 2 b aF

H: =T |+ 2 b 2

: ) + i - :

: : i+ +F :

; T | i i ;

10 1 2 3

a(d d) (cm)

1072f

—e— DQM_original_1000evt
—— DQM_fitted4_1000evt
DQM_fit_nocpe_1000evt

—=— DQM_original_originalvector_1000evt

sl

HET L T
-1 0 1 2 3
TP @ (PCA to beamline)

o p,/p,)

I R St P SRR
R S P SPPPPS
: : P i
: : I, ] e
: : 1: | i | -JII-
L T F IR A |
i AP s T :
. T gk EiS Ll 1 IF
F F Tag W ol Ela) ' S
HE "I"JF { | | 3 B = i '1|
; I Il :

-

-+
nE

zH il

_+"_
———

10 2 3
TP CD(PCAto beamline)



	Contents
	Page 1


